FER2TEEE

| Mg iREER
5 & &&t
ZIREH 44 51 95
EETL 13(29.5 %) 22(431%) 35( 36.8 %)
EEHY 31( 705 %) 29( 56.9 %) 60( 63.2 %)
SER OR ERRELAR S0 [EexERRELE 27 (zexEaaman] 28
WEVILEVEE 2 1 3
GOT, GPT 3 2 3 1 1 1 4 2 3 2
LDH 1 1 1 1 1 1
B
g |LAP 1 1 1 1 1 1
T;g y —GTP 1 1 1 4 5 1 1
g ALP 1 1
ZTT/TTT 2 5 5 2
QYU IRTI—E
LDLaALRXTE—)L 4 1 9 5 1 2 9 2 | 11
% Eﬁ'ﬂs faLzxFo—i 4 1 9 12 | 1 1 16 | 2 | 10
g -:E HAERERA(TG) 5 7 1 6 11 7 1
g g |HDLaLzFo—L | 1 2 5 | 6 | 1 | 2
LDL/HDLLtt 1 10 2 1 12
AERART DEELN 1 1
= 5 M e
=1 R Bk I fiE 1 3 1 2 3
Mg E 1 1 5 1 1 1 2 1 6 1
ANESREVATC 2 1 1 3 1
HEFR IR 3 1 3 1
HBSHUAIG%E 3 2 5
HCVH k&%
B 1 (FRmEkiF L) 1 1
Bl (NEJOEVIESE) 1 3 3 4 3
* M/ RiE A
| f/MREEE 3 3
= B MRS E
B M3k KB 3 1 4
% MfiE 1 1




